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2. WELEHE

1) REVWES H = 2.0 m
2) XFMEyFHE~TE
a. LR Py = 3.0m
b. fRfE A7 HIFR h, = 1.70 m
L TFRREEAA IS AT — R SRR SR C oD R
h, = 0.15m
c. M UTE L= 197m
HEZ AT B EEE LY T BIRB SA 7 £ iERE
h; = 1.70 m
d. B SA7HIR b = 1.00 m
RANRS h; = 0.80 m
3) fERA
e A H—R7Fvhk
M E CGCC
w B 1.2 mm
BEE W = 50 cm
W T AR 2 Z = 1.89cm®
TEMTISE BRIEDZD1.3(ET5
fb = 13365 N/cm’X1.3= 17375 N/cm®
XFFHE
B £ d = 4.86 cm
R E 2.4 mm
M E STK500
o o7 P A = 3.48 cm®
W AR 2K Z = 383cm’
W T 20k -1 i = 1.64 cm
TAWT - BRI E BAFFEDZD1.3E T2
fb = 23430 N/cm®*X1.3= 30459 N/cm’
S =N
it 3 JAFFEDH1.3(F T2
(R 4900 N/fE % 1.3= 6370 N/{&
BIErS 3430 N/fEl X 1.3= 4459 N/1{&
4) #y
AR DRI E
N = 200 kN/m* = 20.0 N/cm®
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1) # *Hﬂﬂ@
V,= +Ke S - Ex

-%ﬁﬁ%#%?%ab:{&fi‘fé

V, @ H EESZIZRIT5REH EE

Vo @ HHEEGE 18.0 m/s
16~20m/sDHH— k7 Hiis x5 A

Ke : BREKEHEEE 1.00
TUM - W2 BR — R A 7o HL

S : H_ERIZIZEIT BB RGE SRR 1.50
#1 ESDEE0~5m, B - |

Er : IBEEREREMIZLHFEMRE 1.00

EEL-BBRE (HE50mil B) MEVE S, BEN TWAES
Kz EEREEZ ANREARFEE KD
V,= 27.0 m/s

2) ‘“=+FH:EJ#F
= 5,/8V,?
az : HEBRESZm)ICBITARRE HEEE
Vy  H EEXZIZB T A EEGE (1B )
Jﬂf%)\nﬂ%ﬁﬁﬁi#r ERDD
a;= 455.6 N/m*

3) BIIREK
C=(0.11+0.945C, *R) * F
C : RIREK
R : HEMELE (L B DDA 0.58
Co : EARRANRE(EER=1) 2.00
F : BREMNBIZIOWERE S ES) 1.00
Tkkﬂﬁ%)\ﬂﬂﬁf—?é&%*&)é
Cc= 1.21
4) EFTE
P=gq;°C
P : BESH
N2 - 3HHBEEE ANAMEELRDS
P= 5496 N/m’ = 0.055 N/cm®
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4. {REVARORRE

BN BESHIVDOHE
w= P-W= 0.055 N/cm® X 50 cm=
e —A b 2
weL? 2.7479 N/cm X 170 cm
M: —
8 8
1INVl
M 9927 N+-cm
== —— = 5252 N/cm®
Z 1.89 cm®
5. A& A7 DORRE
WA REHI-VOME
w= P-W= 0.055 N/cm® X 100 cm=
fifE—A b 2
w-L2 5.50 N/cm X 300 cm
M: —
8 8
TR
M 61827 N-cm
o="__ —— = 16143 N/em®
7 3.83 cm®
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6. PEZ AT DA
1 # E
LR A7 X0 ORE
P,=P-:Pw-: (H/2)
- 0.055 N/cm®X 300 cm X 100 cm= 1649 N

2) FEZ AT TN A0 A
P, 1649 N
Q= -- = 3252 N
cos 0 0.51

3) EEJRDOmBET
AR
Lk 197 cm
E— = = 120
i 1.64 cm
AR PR AL
A=p/ n*E/0. 6F= 97.6
F= 35500 N/cm®
Lo T
A > A D=L ERAL . FFEEIRIC % RDD
BREEIE ST
0.29 0.29 X 35500 N/cm’
fk= ——— F = = 6781 N/cm®
(L/N)? (1203 + 97.60 )2
JEMEIS 1R RS | PR EIES 835
Q 3252 N/cm2
ogc= == 934 N/cm’ < 6781 N/cm®
A 3.48 cm’

4) YEZ AT KR OBREE B DR
Q= 3252 N < 4459 N/fE=BTEI7 7t H
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8. EMEHMoOmREt

BT EHRE S
No= P;-tanf = 1649 N X 1.70 =

RN D513k

To= - Ng=  -2803N
FIHIAZBE AT DRt
h : HESAMTORANES 0.80 m
N : HBOHFEGIE
N= 200 kN/m” = 20.0 N/cm®
d : BEALTHE 48.6 mm
1) X&H
il N n-d?
Q=—— (m+d*h — +40'N- )
1.5 5 4
i
= — X( 3.14X 4.86 cm X 80 cm X
1.5
2
3.14 X 4.86 cm
+ 40 X 20.0 N/cm” X )
4
= 13144 N > Np=
2) SIREHLA
i N
Qr=— *'n+d*hs —
1.5 5
1
= — X 3.14X 4.86 cm X 80 cm X
1.5
= 3256 N S
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